BEAM POCKET 2" INTO CONCRETE e
b 6 ALLLATLS ; N R
N\

WITH WELD PLATE PER FW128. WELD
BEAM w/ MIN. 3" TOTAL OF 1/8"
FILLET WELD, SIDES OR BOTTOM, typ.
BOTH SIDES OF BEAM

BEAM POCKET 2" INTO CONCRETE
WITH WELD PLATE PER FW128. WELD
BEAM w/ MIN. 3' TOTAL OF 1/8"
FILLET WELD, SIDES OR BOTIOM, typ.
BOTH SIDES OF BEAM

(1) 11-7/8" LVL FLUSH
BEAMwW/TS181/1188 ]

28 LEDGER SECURED W/ — |

(2) HDG OR §§ LEDGER LOKS
@32'0.C.

2x6 LANDING
FRAMING @ 16" O.C.
w/ LUS/C262

(2) 2x6 FLUSH ON 4x4
POSTS w/ BC4Z CAP
AND ABU442 BASE

{2) 2¢8 FLUSH ON 4x4
POSTS w/ BCAZ CAP
AND ABUA44Z BASE

2X12 STRINGERS w/ LSCZ, MAXIMUM 3'
BETWEEN STRINGERS. INSTALL TA10Z-R
AT TREADS OR CUT STRINGER.

SECURE 2X TOP PLATE TO STEEL BEAMS 7
w/ POWDER ACTUATED FASTENERS OR
1/4" BOLTS @ 24" O.C., STAGGERED J

FLOOR SHEATHING:
3/4" T&G SHEATHING w/
Bd NAILS @ é" O.C. PANEL EDGE
& 12" O.C. IN FIELD,
PANEL EDGES UNBLOCKED

W10x39 (9-7/8"x 8') FLUSH
TRANSFER BEAM, INSTALL BEAM

|

FOR TOP TO CONTACT FLOOR
SHEATHING ABOVE.

POSTS FROM
HEADER ABOVE

(4) 2x4 POST TO

ey

%' SCH. 40 NON-ADJUSTABLE STEEL POST, =
w/ 4" X 8" X 3/8' TOP AND BOTTOM PLATE

T~ POSTS FROM
HEADER ABOVE

w/ (4) 3/8" BOLTS AT TOP AND (4) 3-5/8
LEDGER LOKS TO SOLID VERTICAL

w_.OnAO IN FLOOR FRAMING BELOW

\

\

\

FLOOR FRAMING LEDGER
L—"" SECURED 10 ICF PER DETALL

\

/~ BEARING WALL

A\

/

1 _.Hy_. TJI1210

QUONSET BUILDING PLATE.
/  SEE DETAIL ON SHEET §1.

@18 ﬂo‘ il
(1) 11-7/8" LVL LEDGER |
(4) 2X4 POST, AND (2) 3-5/8" / | —#4 REBAR PER
HDG OR §§ LEDGER LOKS 11-7/8" 1)1 210 FLOOR SIMPSON STRONG TIE
FROM BOTTOM FLANGE TO | WI10x19 [10-1/4" x 4") FRAMING @ 18" O.C.
POST, STAGGERED. / / FLUSH TRANSFER BEAM
] o £ |

=

(1) 11-7/8" LVL FLUSH
BEAM w/ I151.81/11.88

i1

YZ omnxm§§12w>zur<_.m§_nm<",_
AND BETWEEN, INSTALL (2) #4 AT 2"
MAX. ABOVE AND BELOW BEAM

\

POCKET/ICFVL. SEES1 FOR LOCATION,

/
3/4" OSB FULL HEIGHT x12 _.OZOI\

WEB STIFFENER BOTH SIDES w/
(4) 10D BOTH SIDES [2 ROWS OF 3)

Vlﬁvc._.o w/ SCREWS PER

PSON
HU2.1/11 w/ SIMPSON STRONG TIE

/ (1) 11-7/8" LVL FLUSH

(3) 2X6, w/ (2) 3-5/8' HDG

LEDGER LOKS FROM BOTTOM
FLANGE TO POST, STAGGERED.

OR 55 [3) 2Xé, w/ (2] 3-5/8' HDG OR 5§
LEDGER LOKS FROM BOTTOM
FLANGE TO POST, STAGGERED.

FLOOR SHEATHING:

3/4" T&.G SHEATHING w/

| Bd NAILS @ &" O.C. PANEL EDGE
, & 12" O.C. IN FIELD,

PANEL EDGES UNBLOCKED

HEADER w/ (4) 2x4 POST (1K & 3T)

2) 9-1/2" LVL

(4) 2x4 POSTTO (2) 9-1/2" LVL
HEADER w/ (4] 2x4 POST (1K & 3T)

BELOW Yo

BELOW

11-7/8" 1J1 560
@ 5:/0.0

W8x28 (8" x 6-1/2')

DROPPED FLOOR BEAM

/ WBx28 (8" x &-1/2')

s / 1" DROPPZD FLOOR BEAM

—FLUSH BEAM

| ——(4) 2X4, w/ (2) 3-5/8' HDG OR 5§

LEDGER LOKS FROM BOTTOM
FLANGE TO POST, STAGGERED,

e

N _ N\

-

@32'0.C.

(4) 10D BOTH SIDES

BEAM w/ IT51.81/11,88

NOTE: THIS DETAIL MUST BE FOLLOWED TO RESIST TENSION FORCES

RESULTING FROM OUTWARD THRUST OF QUONSET BUILDING. MARK

2X4 @ 24" O.C. LIMITED
TO 20 PSF STORAGE.

BENJAMIN P.E. OR REPRESENTATIVE MUST OBSERVE THIS.

ICF LEDGER DETAIL

J_- - ‘—.

_— W12x35 [12-1/2" % 10-1/2") DROPPED BEAM /

7w/ (4) 2X4 POSTS BOTH ENDS w/ (2) 3-5/8"
7 HDG OR 55 LEDGER LOKS FROM BOTTOM
FLANGE TO POST, STAGGERED. /

1T 12) 11-7/8" LVL CONTINUQUS HEADER AS RIM

JOIST AND [2) 2X8 HEADERS BELOW FOR
GARAGE DOOR HARDWARE. SEE FRAMING

\ SECTION ON SHEET §3.

Wéx25 (6-3/8" x 6-1/8") FLUSH BEAM w/
(2) FULL HEIGHT P.T, 2x GLUED & SECURED TO
WEB, BOTH SIDES w/ 1/4" BOLTS @ 24' O.C.

o i

(1) ICFVL CENTERED ON (2] LVL RIM w/ HUS412
AT LVL's SECURED w/ (B) #6 MIN, x 1" SELF
DRILLING SCREWS OR 11D-1éx3/4" TEK SCREWS

[ BEAM POCKET PER FW3 w/ MIN, 2" OF 1/8"
1_\| FILLET WELD ON SIDES OR END TO WELD PLATE

.

(2} 2x8 FLUSH
w/ HUC28-21

=

@16 0.C.w/
LUS287 HANGERY

[

RN

L W6K20 [4-1/4" % 6") FLUSH BEAM w/

(2) FULL HEIGHT P.T. 2x GLUED & SECURED TO
WEB, ONE SIDE w/ 1/4"BOLTS @ 24" O.C,

MAIN LEVEL FLOOR FRAMING PLAN

3M1e"=1

N— éx6 POSTS w/ ABUSSZ BASE AND

(2) 3-5/8" HDG OR S LEDGER LOKS
FROM BOTTOM FLANGE TO POST,
STAGGERED., typ. 5 LOCATIONS

FLOOR FRAMING PLAN

/ (1) 1=1/4"x 11-7/8"

LSL RIM

B (1) 11-7/8" LVL FLUSH BEAM
CANTILEVERED OUT TO SUPPORT
STAIRS AND SUPPORTING CUT JOISTS,
ON (2) 2x4 POST AT STAIR WALL w/
HUCQ1.81/11-5DS AT (2] 11-7/8" LVL
END.

LOFT FLOOR FRAMING PLAN

3/16"=1'

DURO SPAN HAND WELDED BASEPLATE
MANUAL FOR ERECTION OF STEEL
PAGE 8

PACKAGE 0 -~ ANCHOR BOLY PLAN

= 1; M. e iy i
_ + —— —— = = RUNSSRI V- ——
_ “ _ [
| + _ + |
_ + [+ |
et ¥
| | ok
| | "3 ,_ +tw m
| s | | o |
m |+ 1+ m
| | | |
m { + [ +
+ | +
| |
+ | +
+ | +
| I : p m +
|
|+
+ . [
I |
+ ' L,
. ﬁ L+
m ( ,v
| + | I
[ 4 B OM CRADE
| | + LAYER - " it +¥
+ “ +
+ m P 8
- | +4
+ | + |7
+ +
+ +
N w ;
|
{
WINTH OF FOURDATION ’
,

SCALE: 3/16" = 1'

PHI-D&E INC, dba

crewn jade

DESIGN & ENGINEERING

ENGINEERED FOR THE
WAY YOU BUILD...

...DESIGNED FOR THE
WAY YOU LIVE

PO BOX 336702
GREELEY, CO 80633
(970) 472-2394; (303) 358-2452

www.crownjade.com

HEGGEN
RESIDENCE

NEW QUONSET HOME
AT TBD VEGA RD.
HUERFANO COUNTY

CLIENT:
DAVID AND DEANNA
HEGGEN
516 MEADOW KNOLL CT.
KELLER, TX
PHONE: 817-675-2477

DRAFTED BY:

EVAN CHEADLE
ENGINEERING REVIEW:
MARK BENJAMIN / DOUG INGERSOLL
/ SETH HOOVER
ENGINEER OF RECORD:
MARK BENJAMIN, P.E.
© PHI-D&E Inc. dba Crown Jade Design
and Engineering

SCALE:
1/4"=1"UN.O.
SHEET SIZE: D (24X36)

FLOOR
FRAMING
PLAN

FINAL

DATE
10/15/2024

FINAL N

ENGINEERS
JOB #
HGND1-24179

SHEET

S2




